X0 x0 4 a0 X0+ X040 X6 = 77 L wf|, A x O] FhE FEotoi et

Ch "
=

>
> Het: 7




2 + A5
35
35
+ Bl
35
<39
71
AL
o=
!
‘_ﬁ] 14—
133

™
H9

@
33
0%
®
39
@
312
®
315

3+
3+
35
3x3° =
36




@)-1 ® 0 @ 1 ® 2

O -2

<~

2x—3x+9 <24+ 12x




ER=DY _ 22 =
T o 3 4 = =oleh
> =
D> ®E: x>
2
x;2_2x—5 < 2014

4(x—2) - 3(2x—5) < 24,
4x — 8 —6x+ 15 < 24,
—2x < 17




Bo o= o] fgasE yehfoldttn @ 0, & F o
2%x52x3x7
ghol] grghe HeZi?

@® 2 @ 3 ® 5 @7 )21
Sera42 Ueh)7] 1814 2Rt 2 15 29 o] o Ao}
g,

watA BRel 337 & 95 A1 45
w794 129 Goltt.




Ut RTASY T, 0 0 o2 H AL BE D2H?
©2 @)3 3)6 @ 8 G)15
3Xa 3Xa a B
= = olB &2 o]Ao| §otAL7
720 24 %32 x5 24 % 3%5 | Aol & 7}
57] 91814 a & 3 9 w50l ofoF gttt
whakAq 27 F 3 o] wjel A2 3,6,15




g(12x+24)—%(36—12x) — Ax +Bx 2t g o, A -B 9] ghe?

D1 @2 ® 3 @ 4 ® 5

(F£4]) = 2x% + 4x - (3x — x?)
=3x* +x=Ax*>+ Bx

A=3, B=1
LA-B=2




@
@—x(x—y+2)+3y(2x+y+4):

—x% + Txy — 2x + 3y + 12y

® —(a-5b) =-a+5b
® 2x(3x - 6) = 6x% — 12x




